t28 idea_1
(TMVuYUoKPxNgali6 T4Cc4bDPv8aT2Czo3uz)

October 27, 2020

Let ml_subset_1 : t=>1=0 be given. Let k5_numbers : ¢ be given. Let
m2_finseq_1 : t==1=>0 be given. Let r1_zxreal 0 : t=>1=o0begiven. Let np_4 : ¢
be given. Let k3_finseq_1 : 1= be given. Let r1_idea_1 : t=1=0 be given. Let
kl.recdef_1 : 1=>1=-1 be given. Let np__1 : ¢ be given. Let np__2 : ¢ be given.
Let np_3 : ¢« be given. Let k13_idea_1 : 1= be given. Let vl_zxreal 0 : 1=0
be given. Let v7_ordinall : 1=>0 be given. Let k2_finseq_1 : 1= be given.
Let v2_zzxreal 0 : t=>0 be given. Let m2_subset_1 : 1=>1=>1=>0 be given. Let
k1_numbers : ¢ be given. Let m1_finseq_1 : t==t=-0 be given. Let k4_ordinall :
¢t be given. Let vl_relat_1: t=o0 be given. Let vl_funct_1: =0 be given. Let
vl_finseq_1 : 1=-0 be given. Let k4_finseq_1 : 1=t be given. Let k9_xtuple O :
(=1 be given. Let k1_card_1: t=-¢ be given. Let v1_finset_1 : t=>0 be given. Let
vl_card_l : =0 be given. Let k1_zfmisc_1 : t=>¢ be given. Let k2_zfmisc_1 :
t=1=>1 be given. Let v3_ordinall : t=0 be given. Assume the following.

VX0.(vlzzreal 0 X0)=(VX1.(vl_zzreal 0 X1)=(VX2.
(vlzazreal 0 X2)=(((rl-zzreal 0 X0 X1)A(rlzzreal 0 X1 X2))= (1)
(rlzareal 0 X0 X2))))

Assume the following.

VX0.(v7_ordinall X0)=(VX1.(v7_ordinall X1)=-((
X0 € k2_finseq_1 X1)&((rlzzreal 0 np--1 X0)A(rl_zzreal 0 X0 X1))))

(2)

Assume the following.

((v2_zzreal 0 np__4)A(m2_subset_1 np_4 k1_numbers kb_numbers))A 3)
((ml_subset_1 np__4 k5_numbers)\(ml_subset_1 np_4 kl_numbers))

Assume the following.

((v2_zxreal 0 np__3)A(m2_subset_1 np__3 k1l numbers kb_numbers))A (@)
((m1_subset_1 np__3 k5_numbers)\(ml_subset_1 np__3 k1_numbers))

Assume the following.

((v2_zzreal 0 np__2)A(m2_subset_1 np_2 k1_numbers k5_numbers))A (5)
((m1_subset_1 np_2 k5_numbers)\(ml_subset_1 np_2 k1_numbers))



Assume the following.

((v2_zzreal 0 np__1)A(m2_subset_1 np__1 k1_numbers k5_numbers))
((ml_subset_1 np__1 k5_numbers)\(ml_subset_-1 np__1 kl_numbers)

Assume the following.
rl_zxreal 0 np__3 np_4

Assume the following.
rl_zxreal 0 np__2 np__3

Assume the following.
rl_zxxreal 0 np__1 np_4

Assume the following.
rl_zxreal 0 np__1 np__3

Assume the following.
rl_zxreal 0 np__1 np_2

Assume the following.
rl_xxreal 0 np__1 np__1

Assume the following.
VX0.VX1.(m2_finseq-1 X1 X0)<(ml_finseq-1 X1 X0)
Assume the following.
k5_numbers = kd_ordinall

Assume the following.

VX0.((vlrelat-l X0)A((vl_funct-1 X0)A(vl_finseq-1 X0)))=
(k4_finseq_1 X0 = k9_xtuple.0 X0)

Assume the following.

VX0.((vlirelat-1 X0)A((v1-funct-1 X0)A(vl_finseq-1 X0)))=
(k3-finseq-1 X0 = kl_card-1 X0)

Assume the following.

VX0.(m2_finseq_.1 X0 k5_numbers)=(VX1.(ml_subset_1

X1 k5 numbers)=((X1 € kd_finseq_1 X0)=((X1 =np_2)V((X1 = np_3)V

(klorecdef-1 (k13-idea-1 X0) X1 = klrecdef_1 X0 X1)))))

Assume the following.

VX0.(m2_finseq-1 X0 k5_numbers)=(VX1.(ml_subset_1

(17)

X1 k5_numbers)=(((X1 = np_3)A(X1 € k4_finseq_1 X0))=(kl_recdef_1

(k13_idea-1 X0) X1 = kl_recdef_1 X0 np_2)))

(18)



Assume the following.

VX0.(m2_finseq_.1 X0 k5_numbers)=(VX1.(ml_subset_1
X1 k5 numbers)=(((X1=np_2)A(X1 € k4_finseq-1 X0))=(kl_recdef_1
(k13Zidea-1 X0) X1 = klrecdef-1 X0 np-_3)))
(19)
Assume the following.

VX0.(vl-finset_1 X0)=((vl_finset_1 (kl_card-1 X0))A( (20)
vl_card-1 (kl_card-1 X0)))
Assume the following.

VX0VX1.(m2_finseq-1 X1 X0)=((vl_funct-1 X1)A(
(vl_finseq-1 X1)A(ml_subset_1 X1 (kl_zfmisc_l (k2_zfmisc_1 kb_numbers

X0)))))

(21)

Assume the following.
VX0.VX1.(ml_-finseq-1 X1 X0)=((vl-relat-1 X1)A( (22)

(vi_funct-1 X1)A(vl_finseq-1 X1)))

Assume the following.

VX0.((vlrelat-l X0)A((vl-funct-1 X0)A(vl_finseq-1 X0)))= (23)
(m2_subset_1 (k3_finseq-1 X0) k1l numbers k5_numbers)

Assume the following.

VX0.v1_card-1 (kl_card-1 X0) (24)

Assume the following.

VX0.((vlrelat-1 X0)A((vl_funct-l X0)A(vl_finseq-1 X0)))=
(VX1.(m2_subset_-1 X1 kl_numbers k5_numbers)=((X1 = k3_finseq-1
X0)&(k2_finseq-1 X1 = k9_xtuple.0 X0)))

(25)
Assume the following.

VX0.(ml_subset-1 X0 kd_ordinall)=(v7_ordinall X0) (26)
Assume the following.
VXO0.((v3-ordinall X0)A(vl_finset-1 X0))=(v7-ordinall X0) (27)
Assume the following.

vX0.(v7_ordinall X0)=(vl_zzreal 0 X0) (28)



Assume the following.

VX0.((vlrelat.1 X0)A((v1_funct.1 X0)A(vl_finseq-1 X0)))= 99
((vlrelat .l X0)A((vl_funct-l X0)A(vl_finset_1 X0))) (29)

Assume the following.

VX0.(vl-card-1 X0)=-(v3_ordinall X0) (30)

Theorem 1

VXO0.(ml_subset-1 X0 kb_numbers)=(VX1.(m2_finseq-1
X1 k5_numbers)=(((rl_zareal -0 np_4 (k3_finseq-1 X1))A((rl-idea_1
X0 (klorecdef 1 X1 np_1))A((rloidea_l X0 (klrecdef 1 X1 np_2))A
((rlsdea-l X0 (kl_recdef-1 X1 np_3))A(rl-idea-1 X0 (kl_recdef_1
X1 np_-4))))))=((rl-idea-1 X0 (klrecdef-1 (k13_idea-1 X1) np__1))A
((rl4dea-1 X0 (kl_recdef-1 (k13-idea-1 X1) np__2))A((rl-idea-1
X0 (klorecdef -1 (k13_-idea-1 X1) np_-3))A(rl-idea-1 X0 (kl_recdef-1
(k13Zidea_1 X1) np_4)))))))



